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Aotz A = EXX| IH NEEN RN EENE A ERRIX| 2I(2Eh RN ENE] 497,000,000 - 163,830,000
A3 A S EAUX| o SHHERR| RN EENE AHAERRIX| 2 (YEh SEX A S A S 12,332,000,000 800,000,000 8,564,300,000
Aotz A = EXX| IH NEEN RN EENE A ERRIX| 2I(2Eh R ECINITEESS] 21,000,000,000 - 14,700,000,000
PR = E WX Ifa REEN RERENHEERE RERNNEETED g Ex e 2,500,000,000 - -
WEALE-EA nEAUEF ) RN EEF RN 33,058,000,000 1,276,000,000 43,129,524,910
nEAHEE| A nsYUEF Eg N EHY S-St =2Hd 409,446,000,000 33,684,000,000 397,984,000,000
WEALE-EA nEAUEF ) IS 24N S YIS 2 AN 27,935,000,000 5,500,000,000 36,000,000,000
nEALEE| A nsYUEF Eg A2 A ZFesl 1,910,000,000 2,231,000,000 13,231,000,000
WEALE-EA nEAUEF ) R OFE-ZHISEZ2 135,801,000,000 9,500,000,000 110,000,000,000
nEALEE| A nsYUEF Eg N EHY Zg-gdeasc=24d 168,567,000,000 12,700,000,000 170,000,000,000
WEALE-EA nEAUEF ) DEE2AY gr-Htnse2dy 128,969,000,000 11,000,000,000 133,000,000,000
nEALEE| A nsYUEF Eg N EHY e 182,482,000,000 13,300,000,000 188,000,000,000
WEALE-EA nEAUEF = DEc2 AN ZF-ABDSE2 180,098,000,000 - 171,700,000,000
nEALEE| A nsYUEF Eg N EHY Motg-HMEasc2 044 215,045,000,000 8,500,000,000 212,000,000,000
WEALE-ESA nEAUEF ) DEE2AY S0[-2MIEC2HM 1,028,000,000 892,000,000 4,392,000,000
DMEA|LELH| nEYEE EE IS 2HM R EREERE 112,182,000,000 3,200,000,000 110,000,000,000
WEALE-ESA nEAUEF ) DEE2AY MNE-OMt NS 24N 37,011,000,000 - 23,099,000,000
nEALEE| A nsYUEF Eg N EHY PHt-Exf a2 dY 34,890,000,000 2,400,000,000 34,200,000,000
WEALE-ESA nEAUEF ) DEE2AY oty-Fe| N2 M 360,390,000,000 10,000,000,000 360,000,000,000
nEALEE| A nsYUEF Eg N EHY Cia-gRlnsc2 44 1,000,000,000 - -
WEALE-ESA nEAUEF ) DEE2AY NZS-otdnsc 214 287,348,000,000 3,792,000,000 231,197,000,000
nEALEE| A nsYUEF Eg N EHY 24 as 2 23,702,000,000 3,283,000,000 11,283,000,000
WEALE-ESA nEAUEF ) U= = AP etz AMX 2 66,335,000,000 12,781,371,630 60,501,486,140
nEALEE| A nsYUEF Eg b HYF-EH1EHS 50,000,000 3,062,670 28,519,530
WEALE-ESA nEAUEF ) ety P e b 50,000,000 -

nEALEE| A nsYUEF Eg b HYF-EH3m UL 50,000,000 - 26,128,510
WEALE-ESA nEAUEF ) ety sl e b 50,000,000 37,875,200 37,875,200
nEALEE| A nsYUEF Eg b oM EH-ojAE =Y 100,000,000 180,000 8,010,350
WEALE-ESA nEAUEF ) ety Aot S-AEfR =M 100,000,000 - 98,808,660
nEALEE| A nsYUEF Eg b oS- FotHMT E MY 100,000,000 - 95,194,340
WEALEHI A nsYU=ER = P hlaks TN E8XH| 9,000,000,000 541,347,840 7,186,404,160
nEALEE| A nsYUEF Eg Aot 2H-EfoM == - - 788,913,000
WEALE-ESA nEAUEF ) ety N | - - 9,387,060
nEALEE| A nsYUEF Eg b SH-EATEHY - - 302,916,770
WEALE-ESA nEAUEF ) ety AR =AM 29,146,000,000 697,506,650 20,237,346,700
nEALEE| A nsYUEF Eg b e R N N s e | - - 3,952,488,900
WEALE-ESA nEAUEF ) ety S EMEY-SMHICEEHY 8,734,000,000 81,675,000 6,825,485,130
nEALEE|A nsYUEF Eg Phra b H-EH2oa Yy 29,088,000,000 689,880,520 22,045,313,810
WEALE-ESA nEAUEF ) ety S5ty 25,852,000,000 185,931,330 16,292,971,500
nEALEE|A nsYUEF Eg b R e bl 17,619,000,000 166,632,000 19,363,344,800
WEALEEA nEAUEF ) ety se-suR=HN 11,545,000,000 995,919,090 12,866,492,570
nEALEE|A nsYUEF Eg b 2Y-2ojmdyd 42,942,000,000 2,554,232,410 34,627,601,830
WEALEEA nEAUEF ) ety 18-5g92=14 26,081,000,000 64,802,600 16,884,884,750
nEALEE|A nsYUEF Eg b soiRegEHdd - - 1,288,122,750
WEALEEA nEAUEF ) ety B4R HIC 3,884,000,000 - 4,823,777,990
nEALEE|A nsYUEF Eg b Pt S E-CHE 8,040,000,000 20,216,000 3,001,946,940
WEALEEA nEAUEF ) ety qAF-A - - 609,601,110
nEALEE|A nsYUEF Eg b =H-3tH 51,463,000,000 1,871,928,240 41,698,034,010
WEALEEA nEAUEF ) ety CHE-2Hak-8 4t 6,414,000,000 59,666,200 7,529,773,220
nEALEE|A nsYUEF Eg b ots-35 35,567,000,000 671,000,000 13,126,018,550
WEALEEA nEAUEF ) ety oELEEI AN 3,808,000,000 32,884,500 3,675,491,490
nEALEE|A nsYUEF Eg b crek-geardy 13,285,000,000 66,852,500 10,930,175,330
WEALEEA nEAUEF ) ety sto|g|-na2 =AM 12,762,000,000 5,401,000 2,496,895,000
nEALEE|A nsYUEF Eg b gds-2231d 13,767,000,000 217,614,070 8,545,429,190
WEALEEA nEAUEF ) Aet2eAd - AFMI ey 1,570,000,000 44,638,000 1,233,802,010
nEALEE|A nsYUEF Eg b efju-otE=e 8,417,000,000 80,000 11,595,995,010
WEALEHI A nsYU=ER £2 P hlaks -z dyd 9,583,000,000 174,177,250 5,624,985,850
nEALEE|A nsYUEF Eg b e-ZASEHY 8,259,000,000 - -
WEALEEA nEAUEF ) ety el AR =N 3,317,000,000 2,151,797,100 4,170,832,320
nEALEE|A nsYUEF Eg b HEIC-_YIcCsEHdY 5,245,000,000 125,141,500 2,600,876,230
WEALEEA nEAUEF ) ety EAMYI AN 23,573,000,000 -2,859,865,800 12,762,432,810
nEALEE|A nsYUEF Eg b SHAARIE 2 - - 954,466,750
WEALE-EA nEAUEF ) ety R e - - 669,720,120
nEALEE A nsYUEF Eg ek HH-FM=EAY 14,201,000,000 182,125,000 9,228,580,220
WEALE-EA nEAUEF ) ety IY-Hol=med 15,321,000,000 609,362,130 9,229,127,570
nEALEE A nsYUEF Eg Phra s Zo-ots2= e 49,487,000,000 373,881,540 27,936,022,870
WEALE-EA nEAUEF ) ety SHEUS1I=AUY 55,392,000,000 249,770,560 38,333,680,540
nEALEE A nsYUEF Eg ek EEEEES 10,653,000,000 130,025,400 6,832,231,230
WEALE-EA nEAUEF ) ety SR =UM 1,568,000,000 83,879,810 2,712,936,790
nEALEE A nsYUEF Eg Phra s He-gehae iy 9,359,000,000 1,051,122,610 8,998,480,070
WEALE-EA nEAUEF ) ety HM-2EHI=HN 14,231,000,000 212,369,850 8,919,540,550
nEALEE A nsYUEF Eg ek AH-FO|F=H4H 15,000,000,000 536,593,880 4,961,361,890
WEALE-EA nEAUEF ) ety =9-o == 15,758,000,000 225,920,610 5,119,588,160
nEALEE A nsYUEF Eg ek qg-ss1=04 10,960,000,000 1,976,713,820 10,709,534,040
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WEALEEA nEAUEF ) EEab ety 2T =AY 13,060,000,000 13,060,000,000 232,717,160 7,520,124,850
nEAEEE| A nsYUEF Eg I Aot SHUSm =AY 36,256,000,000 36,788,000,000 841,072,000 27,240,174,870
WEALEEA nEAUEF ) EEab ety SHEUS3IZ =AY 35,831,000,000 33,037,000,000 120,834,580 25,691,350,550
nEAEEE| A nsYUEF Eg I b st S- 7ol e 14,932,000,000 14,493,611,050 381,873,840 10,889,949,700
WEALEEA nEAUEF ) EEab ety oy-stH2=M 11,191,000,000 14,786,618,000 1,332,798,320 8,866,320,420
nEAHEE| A nsYUEF Eg I b aysje|-Fotm e e 8,455,000,000 9,239,540,540 100,040,600 6,625,642,030
WEALE-EA nEAUEF ) EEab ety e b - 1,593,857,880 - 1,590,815,880
nEAHEE| A nsYUEF Eg I b FAC-HEREHA 7,899,000,000 6,343,871,500 242,345,760 3,867,067,280
WEALE-EA nEAUEF ) Rk ety HMH3u==dd - 1,866,070,000 - 1,866,070,000
nEAHEE| A nsYUEF Eg I b SIHIc-MHeZE=HY 5,260,000,000 6,255,992,000 142,607,290 2,823,309,850
WEALE-EA nEAUEF ) Rk ety Hqu-dsde-1=2=1dM 12,710,000,000 21,519,109,810 2,718,000,000 20,654,959,890
nEAHEE| A nsYUEF Eg I b A58 17,074,000,000 13,164,000,000 121,748,000 8,686,407,840
WEALE-EA nEAUEF ) EEab ety SZ-stu2=idy 6,103,000,000 7,203,000,000 125,838,270 4,312,971,200
nEAHEE| A nsYUEF Eg I b H-HHI =0 7,633,000,000 8,924,838,250 121,311,000 3,271,316,910
WEALE-EA nEAUEF ) EEab ety -8 =AY 4,816,000,000 5,029,000,000 189,083,830 3,740,462,380
nEALEE| A nsYUEF Eg I b T0-ZlIcq =14 12,712,000,000 14,532,228,450 - 7,108,354,170
WEALE-EA nEAUEF ) EEab ety TR A== 10,190,000,000 10,004,000,000 354,423,960 7,921,002,730
nEALEE| A nsYUEF Eg I Aot Hu-FA3R =AY 25,208,000,000 48,887,000,000 1,263,323,480 38,198,292,070
WEALE-EA nEAUEF ) EEab ety Ho-Feh3=Rcidy - - - -
nEALEE| A nsYUEF Eg I b FE-HH=EAHY 11,138,000,000 14,232,770,000 79,656,540 2,102,732,120
WEALE-EA nEAUEF ) EEab ety HYAMNEI=AHA 19,039,000,000 18,236,841,300 343,487,630 7,573,714,990
nEALEE| A nsYUEF Eg I b stE-silE 7,202,000,000 6,227,000,000 251,908,260 5,198,931,810
WEALE-ESA nEAUEF L2 EEab Aet2eAd M- AE =Y 5,554,000,000 6,603,329,440 686,830,530 5,551,123,310
nEALEE| A nsYUEF Eg I b e e e e P 7,227,000,000 8,946,000,000 921,942,420 7,603,664,020
WEALE-ESA nEAUEF ) EEab ety IdE-gia ey 8,174,000,000 6,938,892,110 61,635,420 5,004,806,710
nEALEE| A nsYUEF Eg I b Heo2-FFAYg=EAY 6,267,000,000 1,397,000,000 11,506,000 948,914,200
WEALE-ESA nEAUEF L2 EEab Aet2eAd o A=Y 3,237,000,000 2,589,000,000 4,815,360 72,815,360
nEALEE| A nsYUEF Eg I Aot HU-H21qEdy 6,202,000,000 5,070,891,300 - 295,566,660
WEALE-ESA nEAUEF ) Rk ety So|MIcE=HA 8,207,000,000 17,663,177,840 -1,529,341,090 16,898,672,430
nEALEE| A nsYUEF Eg I b EF-HdH=acdd 12,933,000,000 17,059,000,000 132,104,070 13,931,907,910
WEALE-ESA nEAUEF ) EEab ety AS-BEI=AHL 9,949,000,000 - - -
nEALEE| A nsYUEF Eg I b N e 1,457,000,000 1,782,000,000 - 473,799,100
WEALE-ESA nEAUEF ) EEab ety A | 5,127,000,000 4,394,000,000 102,927,000 3,355,585,840
nEALEE| A nsYUEF Eg I b AE-HEIEHY 16,715,000,000 22,381,000,000 2,006,980,200 15,985,466,020
WEALE-ESA nEAUEF ) EEab ety ots-gtalRc iy 32,553,000,000 32,042,000,000 186,989,570 21,007,281,560
nEALEE| A nsYUEF Eg I b doll-S=a =14 6,354,000,000 6,579,000,000 15,246,000 5,427,085,670
WEALEHI A nsYU=ER = Ay P hlaks A AEACAY 8,711,000,000 7,659,200,300 54,405,640 4,507,589,520
nEALEE| A nsYUEF Eg I b ade-AdEa = 13,360,000,000 10,154,000,000 167,877,000 8,143,227,960
WEALE-ESA nEAUEF ) EEab ety A-slE=cY 200,000,000 125,000,000 - 8,959,490
nEALEE| A nsYUEF Eg I b O H-XE=4H 6,007,000,000 5,007,000,000 1,361,202,240 3,302,585,670
WEALE-ESA nEAUEF ) EEab ety X-552=14 6,178,000,000 7,803,000,000 23,903,000 6,246,732,350
nEALEE| A nsYUEF Eg I b D e 8,852,000,000 8,214,000,000 783,885,700 4,801,958,280
WEALE-ESA nEAUEF ) EEab ety QNN 5,532,000,000 948,000,000 7,732,820 7,732,820
nEALEE| A nsYUEF Eg I b KE-MHEFEHY 6,648,000,000 7,306,000,000 890,779,870 6,498,791,530
WEALE-ESA nEAUEF ) EEab ety M-I 12,828,000,000 13,758,801,330 163,915,940 10,915,616,210
nEALEE|A nsYUEF Eg I b N e | 200,000,000 200,000,000 - -
WEALE-ESA nEAUEF ) EEab ety Hotdat-HeElAaA=m =Y 4,488,000,000 471,000,000 - 192,028,200
nEALEE|A nsYUEF Eg I b MO A -A7|AFREAHY 200,000,000 200,000,000 9,982,420 17,095,020
WEALEEA nEAUEF ) EEab ety SHEUS4z =AY 13,923,000,000 14,161,000,000 1,100,000 10,943,679,890
nEALEE|A nsYUEF Eg I b ZHO|S-HAMBEIEHY 200,000,000 10,000,000 - 2,223,500
WEALEEA nEAUEF ) EEab ety 2o -otE1- 12 =AM 55,654,000,000 53,412,246,960 69,296,300 30,332,343,300
nEALEE|A nsYUEF Eg I b SH-RFI LAY 6,306,000,000 8,359,000,000 1,335,163,400 6,561,427,360
WEALEEA nEAUEF ) EEab ety SlesH-STEMREY 200,000,000 145,000,000 - 10,000,000
nEALEE|A nsYUEF Eg I b EA-MA=EHY 37,370,000,000 37,552,278,500 502,350 33,681,681,280
WEALEEA nEAUEF ) EEab ety Aototsl-stel 2 =M 22,913,000,000 22,501,000,000 2,703,405,360 17,817,963,050
nEALEE|A nsYUEF Eg I b TotEf-SHOp = 21,445,000,000 20,965,000,000 610,235,280 15,332,693,970
WEALEEA nEAUEF ) == ety HHAA-SASI=AY 3,373,000,000 17,000,000 - 6,999,030
nEALEE|A nsYUEF Eg I b HotsH- M= 22,514,000,000 17,264,359,500 51,885,440 51,885,440
WEALEEA nEAUEF ) EEab ety R e A | 29,746,000,000 22,367,000,000 -5,638,625,110 18,581,356,700
nEALEE|A nsYUEF Eg I b AP Aok MH| 2R EHY 21,295,000,000 16,936,000,000 -3,284,971,070 14,071,420,970
WEALEEA nEAUEF ) EEab ety EfotnL- A7 |2 =N 13,348,000,000 10,056,458,400 45,819,510 1,971,187,340
nEALEE|A nsYUEF Eg I b =NOA- MR F=HY 10,000,000,000 1,242,615,420 - 21,615,420
WEALEEA nEAUEF ) EEab ety Ol = -0l FItd2 =M 16,861,000,000 2,044,592,640 91,008,500 1,192,284,320
nEALEE|A nsYUEF Eg I b THMFIC-EETEHY 5,706,000,000 1,212,000,000 - 20,000,000
WEALEEA nEAUEF ) EEab ety Ef8i-0|22- 22 =M 2,026,000,000 471,000,000 - 50,996,470
nEALEE|A nsYUEF Eg I Phra b EftH-0| 237 =714 2,431,000,000 460,000,000 - 49,999,770
WEALEEA nEAUEF L2 EEab A2 = SN2 =2 ZAHEA A= N e =2 4 X[ 6,873,000,000 6,969,181,400 17,056,000 4,839,879,300
nEALEE|A nsYUEF Eg I A=t =2dd N | 28,060,000,000 34,268,060,980 16,720,000 24,270,984,910
WEALEEA nEAUEF ) == A= N =21y HE-HAI =AM 15,945,000,000 20,817,890,220 1,403,392,240 14,501,729,320
nEALEE|A nsYUEF Eg I A=t =2dd SY-gdd1=iedd 29,870,000,000 29,870,000,000 429,492,000 20,868,656,730
WEALE-EA nEAUEF ) == A= N =21y S92 HY 19,464,000,000 26,127,632,270 902,949,970 14,157,901,920
nEALEE A nsYUEF Eg I A= EtiH 23 =2dd E7-20t=x = HH 17,204,000,000 15,125,000,000 - 11,621,496,400
WEALEHI A nsYU=EF £2 Ay AN =214 SE-HEIH=HY 21,484,000,000 22,696,499,160 558,386,570 15,941,547,700
nEALEE A nsYUEF Eg I A= =244 M2otalEd 29,035,000,000 29,035,000,000 24,691,230 20,624,431,920
WEALE-EA nEAUEF ) == A= e =21y ME-8H 13,572,000,000 11,260,000,000 248,090,050 8,462,163,830
nEALEE A nsYUEF Eg I A= =244 Ar-gl 24,792,000,000 24,792,000,000 163,725,240 17,007,303,320
WEALE-EA nEAUEF ) == A= e =21y S4-ne13edy 28,149,000,000 28,149,000,000 182,169,000 19,947,173,480
nEALEE A nsYUEF Eg I A= EtiH 23 =2dd g4-ue2aq=dy 32,673,000,000 34,446,517,180 3,331,350,000 26,106,249,090
WEALE-EA nEAUEF ) == A= e =21y sA-SRRU =AM 9,892,000,000 12,868,000,000 70,210,180 6,515,971,470
nEALEE A nsYUEF Eg I A= EtiH 23 =2dd N e i e b 24,229,000,000 32,255,270,010 508,286,620 17,974,462,280
WEALEHI A nsYU=EF £2 Ay AN =214 e i e | 4,573,000,000 8,516,148,600 554,549,170 3,710,575,080
nEALEE A nsYUEF Eg I A= EtiH 23 =2dd Hi-stY=miEd A 24,927,000,000 40,045,000,000 - 17,456,162,740
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WEALEHI A £2 Ay AN =244 SY-UEFHY 8,707,000,000 5,958,000,000 57,804,180 4,951,746,170
nEAEEE| A Eg I A= EtiH 232 dd M-HE=Edd 31,717,000,000 25,738,000,000 3,852,802,390 20,701,671,330
WEALEEA L2 EEab NEHRETEIS SA-AF X A28 - 72,000,000 - 72,000,000
WEALEYA = R L 2ot st MBS A A &) CEotHAIstATM 917,388,000,000 950,009,848,280 37,333,712,510 657,735,910,740
WEALEEA ) EEEE] B Z-RXLF 70,197,000,000 72,804,820,710 6,295,493,350 63,251,308,990
nEAHEE| A C2ae L2299 N2 2,847,152,430
WEALE-EA L] CE2ESEAA ) CE2RXESF 32,301,952,890
nEAHEE| A C2ae CRHEX|FMN CRHEX|FMN 7,158,137,130
WEALE-EA L] HOUz 2 nEH A FEEE R 22,333,110,000
nEAHEE| A C2ae AHHEELSH AEXNHAZELH 16,994,790
WEALE-EA L] CRALYE CRAdYHEHAT 318,528,020
nEAHEE| A C2ae FEEEY R BEEEY R 5,053,356,510
WEALE-EA EEE R EEHERES R EEHERES -
DEASEES] A C232g oA AN EEREE 475,544,250
WEALE-EA EEE TEAEHE CERolmetyd SAEE LS -
nEALEE| A QX E2d gy SIXFF XA QX222 GX| Y 252,200,000
WEALE-EA AN ETRE] AIXR KA Axt=2 44X 43,423,334,480

LSAEE A

AAH =2 HEX]

g2

THNTADE-Z7 R e B EE

1,000,000,000

USAEE A

S| A2k A2

SANHE

TR SR ELS AR AR AARHE

LSAEE A

SSA=HE 7S5

SSA=HE 7S5

SsMa#7SEEAR) A

USAEE A

AZHAHNEHES

EIAEHE

SBAZHE

LSAEE A

A7 ISUHAACIZEHETIS)

A7 SN EWESA)

JI20S7I=s™E

23,000,000,000

WEALE-ESA R DEEEAY SHISHC AL EF-5m)

nEALEE| A e e HEH- Q&2 E M3} -
WEALE-ESA DEEEAY DEEEAY AENSHE T 9,000,000,000
WEALEYEA e e QIHBKTX -
WEALE-ESA DEEEAY DEEEAY 2@ EKTX -
nEALEE| A AHtEEHY AHtEEHY 2y-Adde|Hedd 20,000,000,000
WEALE-ESA UEtEE A Aetd =AM ZoAMEC A 30,000,000,000
nEALEE| A AHtEEHY AHtEEHY HAF-MHESHEHES} 3,026,900,000
WEALE-ESA UEtEE A Aetd =AM ZS-HeHHc AN 5,820,000,000
nEALEE| A AHtEEHY AHtEEHY SA-mSEMEE 6,566,000,000
WEALE-ESA UtH =AM Aetd =AM S-S HEHE -
nEALEE| A AHtEEHY AHtEEHY M dEMEH 30,000,000,000
WEALE-ESA UEtEE A Aetd =AM O|M-EZE=AY 62,000,000,000
nEALEE| A AHtEEHY AHtEEHY e ErEg 9,900,000,000
WEALE-ESA UEtEE A UEtEE A SEH-SIH™Est 12,870,520,000
nEALEE| A AHtEEHY AHtEEHY SE-IHEMEE 30,000,000,000
WEALE-ESA UEtEE A UEtEE A I ANETEMHE 3,671,000,000
WEALEYEA ] ] et dAIE-tfoh S MM H st -
WEALE-ESA UEtEE A UEtEE A e ko] 3,880,000,000
nEALEE| A AHtEEHY AHtEEHY za-sof dH s} 20,000,000,000
WEALE-ESA UEtEE A Aetd =AM ZE-MAUE=HY -
WEALEYEA ] ] =H-SxodE -
nSALELHA U HE AN U AM HR-TuSMEAE -
WEALEYEIA ] ] Olgel-SEtEMME -
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M= off A

HO
Djo
D2
jo
OH
=1

28 214 =20F 22 z2373 THRIAFY M A Ojf Akl Ojf A5 o FAXESY
YUMEHA | IELXINY AHAEEX] AHACEX X ) ArEX| Z Y =2 X OFEME W MERIER 7,479,000,000 8,682,247,410 3,450,538,740
THAHEEI A [SEXX Gy SHHERR| RN EENE AHAEX| R =2 X[ oA AMEEIYER 1,750,000,000 2,000,000 1,999,100
7t UMELHDA | SERX| I AT RN EENE] AATRFI Y =2 X[ 2 EEEERNER RN 11,000,000,000 11,079,531,000 8,350,510,820
LAHMEH A |SEUXG7HY SHHERR| RN EENE AHAEX| R =2 X[ HEFHCMORIER 5,290,000,000 5,290,000,000 -
SHEH|A [FEUXGHNY AT RN EENE AATRFI Y =2 X[ 2 SHUSAFMERAER 6,300,000,000 7,412,524,700 2,797,370,220
LHEHA |2EXUX YN SHHERR| RN EENE AHAEXTIY =2 X2 SFEAAETER 13,218,000,000 13,597,470,670 5,963,240,620
SHEH|A [FEUXGHNY AT RN EENE AATRFI Y =2 X[ 2 EEE RN 4,000,000,000 4,079,860,410 2,329,119,780
LHEHA |2EXUX YN SHHERR| RN EENE AHAEX| R =2 X[ HOHE M E A MM EIRIQE 2 3,926,000,000 6,966,034,000 4,244,359,390
SHEH|A [FEUXGHNY AT RN EENE AT R =2 X[ 9 S YHERAMERIYER 15,000,000,000 15,968,561,560 14,643,617,250
LAHMEH A |SEUXG7HY SHHERR| RN EENE AHAEXTIY =2 X2 A S S A 4,679,000,000 3,135,496,000 77,216,000
SHEH|A [FEUXGHNY AT RN EENE AATREI Y =2 X[ 2 AFACAICTIE 2 7,933,000,000 5,933,000,000 3,796,374,900
LAHMEH A |SEUXG7HY SHHERR| RN EENE AHAEX| R =2 X[ YA MR ER 675,000,000 4,122,420,530 554,470,220
SHEH|A [FEUXGHNY AT RN EENE AATREI Y =2 X[ 2 HOtEEpITACHRI Q=2 3,405,000,000 1,299,000,000 280,933,200
LHEHA |2EXUX YN SHHERR| RN EENE AHAEXTIY =2 X2 ORAEMEEH I L MEIRIQER 14,291,000,000 14,291,000,000 14,291,000,000
SHEH|A [FEUXGHNY AT RN EENE AATREI Y =2 X[ 2 OfAMX[AEHEIQE 2 3,000,000,000 7,914,000,000 2,425,000,000
LHEHA |2EXUX YN SHHERR| RN EENE AR R =2 X[ HFEO[AMERIYER 6,840,000,000 6,840,000,000 -
SHEH|A [FEUXGHNY AT RN EENE AATREI Y =2 X[ 2 SHHIA AT ER 510,000,000 510,000,000 138,000,000
LHEHA |2EXUX YN SHHERR| RN EENE AHHAEXTIY =2 X2 Ol AhR2AEHRIQIE 2 2,300,000,000 1,553,000,000 573,091,350
SHEH|A [FEUXGHNY AT RN EENE AATREI Y =2 X[ 2 SN0 ZFIMEHFEN -0 ES)TYEE 800,000,000 800,000,000 536,649,000
LHEHA |2EXUX YN SHHERR| RN EENE AHAEXTIY =2 X2 LA AR E 2 8,000,000,000 6,503,275,000 80,663,000
SHEH|A [FEUXGHNY AT RN EENE AT R =2 X[ 9 PO S SSHMEIRIQER 2,010,000,000 2,136,000,000 118,939,700
LAHMEH A |SEUXG7HY SHHERR| RN EENE AR R =2 X[ M I W MERIER 2,320,000,000 2,483,018,000 -
SHEH|A [FEUXGHNY AT RN EENE AATREI Y =2 X[ 2 OFAFQIFAMEI3ZHRYER 5,040,000,000 5,406,322,300 5,077,668,400
LHEHA |2EXUX YN SHHERR| RN EENEE AR R =2 X[ EBIXAEHEIER 3,511,000,000 2,383,000,000 414,000,000
SHEH|A [FEUXGHNY AT RN EENE AATREI Y =2 X[ 2 SYSMAETIER 5,590,000,000 5,818,265,300 5,669,766,000
LHEHA |2EXUX YN SHHERR| RN EENEE AHAEXTIY =2 X2 o|F R EMETAER 2,890,000,000 2,900,000,000 1,207,786,000
SHEH|A [FEUXGHNY AT RN EENE AATREI Y =2 X[ 2 AFTHCRIYER 2,010,000,000 2,056,498,620 25,286,000
LAHMEH A |SEUX| G SHHERR| NN EENE AR R =2 X[ HOtH R =TI AETIE R 396,000,000 396,000,000 299,615,400
SHEH|A [FEUXGHNY AT RN EENE AT R =2 X[ 9 HFSHO[HIAMERYER 11,900,000,000 8,354,710,200 120,644,300
LAHMEH A |SEUX| G SHHERR| NN EENE AR R =2 X[ OFOHE MR E 2 2,010,000,000 3,758,000,000 1,943,744,400
SHEH|A [FEUXGHNY AT RN EENE AACIX| Y =2 X| 2 HOBX| MY ER 3,500,000,000 4,097,630,240 3,500,000,000
LAHMEH A |SEUX| G SHHERR| NN EENE AR R =2 X[ A2 HUEMEIRIQE 2 7,185,000,000 9,185,000,000 6,774,568,900
SHEH|A [FEUXGHNY AT RN EENE AATREI Y =2 X[ 2 HEHEZoEMETYER 527,000,000 677,000,000 -
LAHMEH A |SEUX| G SHHERR| NN EENE AR R =2 X[ FIHHI - ERAMERIQER 900,000,000 900,000,000 428,000,000
SHEH|A [FEUXGHNY AT RN EENE AATREI Y =2 X[ 2 SlotE SAEHRIE 2 889,000,000 889,000,000 547,609,060
LAHMEH A |SEUX| G SHHERR| NN EENE AR R =2 X[ HOZ MBI R E 2 846,000,000 841,000,000 403,773,000
SHEH|A [FEUXGHNY AT RN EENE AATREI Y =2 X[ 2 OMSEACTIE 2 1,291,000,000 893,000,000 506,000,000
LHEHA |ZEXUXGINY SHHERR| NN EENE AR R =2 X[ SO LEME R E 2 2,000,000,000 2,000,000,000 -
UHEH|H |FEUXIHY AT A TR 7R AR @ AATHR|EI A = 2 X[ 2 e - g L ey 1,000,000,000 559,645,470 10,000,000
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